£300 BERSIZAYXF U-11 FRU-THEEBRUBRER (8ARD 1HB
B8R 12878 (D

A5 BOBELHRE ERIS—F) >~

-1 L HWAFC | — a4 [ TNDyFRR=WLDST |
A a o | BG6SSS | s I 1BSSS ]
3 | WHZF C | 6 | FEYaZAF-IWIFC |
215 BOBEFHRE GERIO—H) ~_
-1 | XARSSS j 4 [FCISYF1—ILF8= |
B E}t > [ MESSEZ®WFC | B—E 5 | EBF C ]
3 | SERF C | 6 | EWBSC ]
HSRM (15-5-15 ST — i)
; I | &| mUE
RET 830 ~
Z15a [915 ~ 9560 1 = 2 5 & 6
258 [950 ~ 1025 4 = 5 1 & 2
£3WE [1030 ~ 1105 1 = 3 4 & 5
ZARS 1110 ~ 11145 4 = 6 3 & 1
555 |1150 ~ 1225 2 = 3 6 & 4
ELORS [1230 ~ 1305 5 = 6 2 & 3
B7EE |1310 ~ 1345] 4L@EM | = 4 FOHSF—A
B8HME (1350 ~ 14:25| S5C@IEM | = 5 ETHETF -1
FORE [1430 ~ 1505| 6L@MERI | = 6 EMETF—L
*BRIGHLETY
A ao0vo] BAFC | BHosS | WIFC || Bm | &m | BXE| Bm | I8
HEAFC B =
BHSSS — ==
LWFZFC — —

A bI0wolmsyazz-nrc] BESSS |movrr-aosTl BE | Lm | BXE| B | E=Tivd

FEREY2ZA—IFC o s

HEF/SSS - —

TND v bR—ILD 5T — o

B a0vwo|| XKaESSS|messeswrc| ZBEFC || B8m | R | BEE| Bw NEfiz
KSOFRSSS - —
MESSEE®FC —_— —_—

ZEEFC - .

B b70OwD|rersrnsse| BBFC | BMBSC || Bm | £m |BXE| B LG

FCTSYF « ~ LT8R —
IBHF C = —~
RMESC = =




300 BEESAAVIM U-11 FEU-TJHEGERUBRER (8Af)D 188

=iz BIEEE GFRIDJ—H)

-1 | &8FSSS | — 4 |  PE-AKRFC
C H o | @llISSS | 5 | T7ESC
3 | W®AF C | 6 | BIESSS
=15 BI9EEE (FRID— )
-1 | WBPBSC | = 4 E#HSSS
D 2 [ DEVIYFR=ILOST | B—t 5 | BH<ESSS
3 | MBERSSS | 6 |  NUVILKRBJr |
N T e &Y
nﬁGH:{fFEﬁ <15 5 15> Xj@ﬁ" A I% | &I @Eﬂ%
i [830 ~
g188 [945 ~ 1020 1 = 2 5 & 6
g25a  [1025 ~ 11.00 4 = 5 1 & 2
$3HS  [1105 ~ 1140 1 = 3 4 & S
478 [1145 ~ 1220 4 g 6 3 & 1
FE55EE  [12256 ~ 1300 2 = 3 6 & 4
Fosms [1305 ~ 1340 5 = 6 2 & 3
g7R5 [1345 ~ 14:20] 4c@IER | = 4 FOHET—L
FE3ME [1425 ~ 1500| 5SHE@ENERT | = 5 FHEETF— A
gOHms [1505 ~ 1540] 6&C@IERN | = 6 ESHEF—L

*SRBHETT

C a70v7||&B85SSS| &)lIlISSS | BFC || B8R | &t |BXRE| Bx gt
£BFSSS — —
USRS - =
#wABFC — =

C bryawol|re-nxrrc| GoASC | BESSS || B | Xm |BXE| B | B
PE—NHRFC — —

T7ESC = =
EESSS = —

D aZOwP|IBPBSC|reori-ws7 |BBRS S S| 58 | kR | BEE| Ba JIE {1
WADESC — —

DEVI Y ER=LI5T — —_

BRSSS = =

D b7OvZ||EEHSSS|BBESSS|vovnsl || B8a | kA |BEh=E| BS = v
EHSSS — —
RPB<FESSS = —
NUVIREJr — —




2300 8ESAAVAR U-11 Bk XY HESERUBER (8ARD 288

218 BOBECHRE ERIO-H) BEE - 12A88 (B)
(1 BEOERTRBIIRE)

E1) SREBEITOREG

RELURBSEB3ABIPKEH
E2) WBREN - ERDHY 5259

1261 —F XY+ E - %5%&;%%; P ‘: EETERE ur;mmg:aampxam{
1 1 (PKEIZ3ARE Ly RELZNBERETRIYFTAUCASD)
1 i
—. Plwt 1 [}
@ : : Doarr
. I I
—ID] tem 1 1 i
® s )
[B] | [1u: 1 s
— 1 1
@ = \ . 2omn
' om ¢ 1!
{§ g I 1
B ©—© : :
AR 1
| | ©D)=1p)
L : :
|2t { 1L
® : L@
ST 1
O] ! |1:t )|
1 }
@ - ' Teonan
(Al e ]|
O g Y ) [}
i =y
REBE <15-5-15 XTERF —
EX 3 WS
E15%8 | 845 ~ 920 A1 = D2 D1 A2
2RSS | 925 ~ 1000 B1 = c2 D—BE O—E
EIFHS 1005 ~ 1040 C1 = B2 @—BsB @—-HE
gEARES 11045 ~ 11:20 D1 = A2 O—BE Q—ME
EERS  |1125 ~ 1200 @ = vl @—BB @&
LRSS 1205 ~ 1240 €] = @R O—BE 6—-NE
BEIES |1245 ~ 1320 D)= = 28 e—E &
F=RRHE |1325 ~ 1400 Q8 = @8 D—BE O—E
FORES |1405 ~ 1440 &)=] = G B—E ®—-E
1088 [1445 ~ 1520 Bk = e O—mB o—ME

*BZEBHETY



E300 BEBSA AV U-11 WBhi b —7 X MMESERUBER (8AFD 288

£I%  BOBELHRE GERID—~) BIfEE - 12888 (B)
(1 BEBORBRTRBITRE)

F1) BUREHFITORSE
REURVEBESEISARPKSH

B4f1F—F AV

BOEE s LD

1 1
] I
1 1
s i
[A] | (3¢ 1
@ : : TaF
1 1
—0] 1 |amt 1 r
® | . @
EHET 1 i
S 1 1
2 ! |
D lam 1
5 e s a
—iC] ! |am ¢ 1]t
@ 1 i Smai
] I
—B] | [am ¢ 1
] 1
® ! L ®
RETE 1!
I ]
@ —o 2 | aonan
A a4t )|
| g = 1
=4
S8 15515 XTETF — I\
I8 HENE
E1RE |845 ~ 920 A3 = D4 D3 A4
E2HS |925 ~ 1000 B3 = Cc4 O—BE Q%61
EIHS |1005 ~ 1040 C3 = B4 @—BE Q—E
BAKS |1045 ~ 1120 D3 = A4 Q—E —HE
/;5RS 1125 ~ 1200 D] = @B @—BE @—B
Eoeas |[1205 ~ 1240 )i = @R O—BE O&—-E
BTHES 1245 ~ 1320 D)= = @8 &—BE e—uE
SRS 1325 ~ 1400 8 = @8 -85 O—WE
FOHE |[1405 ~ 1440 &= g (&)=} e—BE s
E1088 [1445 ~ 1520 G = @ O—BS O—E

*EXBEHBTY



£300 8BS AVIHF U-11 BRI ~— XY hMESERUBRER (8ARD 28HB

g5 gEEss ER/D—H) REED : 12888 ()
(1 BEOEBRTREBITRE)

1) SMBREE THHS
REURVIBER3ABIPKEH

Ge6fiir—F AT+

: SEENE GFERD :
. :
A | |5t 1 |3
® : : [0]=1p]
—ID] i 61 [ ) E
® : ¢ 4D
B] | [su: 1 )i
1 1 1
@ t o
| e [ & -
= @—© : :
fs i i
' (st € 1 s
@ 1 : (©n)=1y]
]
B] | [em 1|
1 1
® .- ' ®
D] ! |5t 1|
I ]
@ : | eoan
LA et { 1!
e i i i ]
=3
HEBY 15-5-15 XIETF — A
E2 AT
F138 | 845 ~ 920 A5 = D6 D5 AB
BL2HES | 925 ~ 1000 BS = C6 D—BE O—-E
E3EKS 1005 ~ 1040 C5 = B6 @—E @—E
F|ARS 1045 ~ 1120 D5 2 AG & Q—WE
E5RS 1125 ~ 1200 D = s @B @—RB
Fo5E  |1205 ~ 12140 €y = @B 6-BE &—-ME
B7HRE 1245 ~ 1320 =] = 28 ©—BE e—E
EBIHS 1325 ~ 1400 8 = @8 D—Ba @O—E
FEORS  |1405 ~ 1440 68 = (=] @—HE e—WE
=108 1445 ~ 1520 Gy = O OS5 O—uE

*ERBHETY



